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1. Where is the post office?
A. At the tuming of the street.
B. Opposite the bookstore.
C. Near the next lights.
2. What can we leam about the man?
A. He loves buying flowers.

B. He doesn’t love flowers.

- %iE

C. He loves planting flowers.
3. What does Charlie prefer?
A. Mickey Mouse and Donald Duck.
B. A football match.
C. The cartoons on TV.
4. What does the woman mean?
A. She has already been to the concert.
B. Betty is asking her to the concert.
C. The man could go with Betty.
5. What time is it now?
A. 6:55.
B. 7:05.
C. 8:05.

Z kG EERTAT I EM,
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6. What is the speaker trying to describe?
A. Slaves’ jobs.
B. Slaves’ lives.
C. Slaves’ meals.

7. How much time could the slaves use to eat
at noon?
A. Half an hour.
B. An hour.
C. One and a half hour.

8. When could slaves grow their own food?
A. On Sunday afternoon.
B. On Saturday afternoon.

C. Every aftemoon.
EHLEMNEXBR—8, AELHNRATA
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9. The slaves

10. They immediately
they do hard labor until

noon .

at daybreak .

, where

11. If their master is very kind, they might

12. After their noon dinner, the slaves
until dark.

to rest.

13. They eat

WrsE 7 BRdHet, HEE 14—16 /Nl
14. What news can you first hear ?
A. Some bad news.
B. Some good news.
C. Not mentioned.
15. What is the good news 7
A. The new Sports Centre will open to-
MOITow morming .
B. There will be a swimming match tomor-
row afternoon .
C. Both A and B.
16. If you win in the swimming match, what
will you get?
A. A piece of clothes.
B. A radio.
C. A television.
WHE T RMRIER—E, HEE 1720 /8,
17. What is the date in the news?

18. What bad things happened last night?

19. Which is the right number to ring?

20. What time does the new Sporis Centre
open?
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26. How many children does the man’s family
have?
A. Six.
B. Five.
C. Seven.

27. How many children does the woman have?
A. Two.
B. No more than two.
C. At least two.

WS 10 B, B % 28—31 /i,

28. Where did the two women actually meet?
A. At the east entrance.
B. In the women’s clothing department.
C. At the main entrance in the front.

29. When did the two women actually meet?
A. AL 2: 00.

ZER A



B. At 2:30.
C. At 3:00.
30. What did Betty want to buy?
A. Jeans.
B. Dresses.
C. Blouses.
31. What did Betty finally buy?
A. A skirt.
B. A sweater,
C. A blouse.

XTGPk R SR,
WrsE 11 B, B 3235 /Mo
32. The professor usually accepted the stu-

dents” papers .

A. after the deadline of the examination
had passed

B. when the time for the examination was
up

C. two hours before he gave papers to
them

33. During the examination hours, .
A. the students made a lot of noise
B. the students were silent
C. one of the students made fun of the
professor
34.  finished the work in time.
A. All the students
B. One student
C. Not all students
35. The students who said he was the son of
the king finished the work in .
A. fifteen minutes
B. two hours

C. two hours and a quarier

W 12 BRHHE, Bl % 36—39 M,
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36.

37.

38.

39.

WTsE 13 e, B 5 40—42 (B
40,

41.

42.

Most people didn’t believe Francis Bacon

. until Mr. Bacon said that himself

= =

. until George Kell did the experiment to
prove it

C. after the cold water froze

Dr. kell’s cups were both

A. filled with water

B. left covered

C. exposed to the different temperatures

No water would have escaped into the air if
the cups had been

A. warmed

B. covered

C. shaken

The cold water froze slowly because .
A. salt was added to it
B. its cup was smaller

C. there was more water in the cup left

Before the 1950s the computer was

A. widely used

B. not understood by many people

C. no use at all

The computer today is  than it was
before.

A. reduced

B. increasing faster

C. not changed
From the text we know that the speaker

A. doesn’t like computers
B. liked computers
C. thinks computers have developed

rapidly
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Why was the man late?

A. Something was wrong with his car,
B. His car was stolen.

C. He had his car repaired.

. What will the man do on Sunday?

A. To go cycling.
B. To go swimming.

C. To go to a meeting.

. Who’ s the woman accepted as her helper?

A. The engineer.
B. One of her friends.
C. A student of hers.

. What does the man mean?

A. What the woman said is true in fact.

B. He thinks the woman can be pleased
eaéily.

C. He thinks the woman is too particular
about her clothes.

. Where does this dialogue take place?

A. In a hotel.
B. At the Concert Hall.

C. In a meeting Toom.
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6.

7.

8.

Where is Tom going?

A. Home.

B. The supermarket.

C. France.

What is Bob going to do?

A. He’s going to help the woman.
B. He’s going to find a job.

C. He’s going to make some money.
Who needs to make some money?
A. Tom.

B. Mary.

C. Bob.

BT S 7 AP, B o—12 /Ml

9.

10.

11.

12.

Why can the man and his family stay at this

hotel 7

A. They have a reservation.

B. They are friends of the owner.

C. Someone else canceled a reservation.
What is the man especially glad to have for
his children?

A. A color TV.

B. An extra bedroom.

C. A swimming pool.

When does the hotel want its guests to
pay?

A. When they register.

B. When they reserve a room.
C. Just before their departure.
Where is the unit?

A. On the ground floor.

B. On the first floor,

C. On the second floor.

wfg 8 Fﬂﬁﬂ ] Egg 13—16 fl\ﬁo
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13.

14.

15.

16.

Marx could write in .

A. Spanish, French and English
B. Gemmnan, French and English
C. Geman, Russian and English
Marx had much knowledge .
A. in many fields

B. only in economics
C. only in history

At the age of fifty he _

sian.

__ to study Rus-
A. stopped

B. went

C. began

After he got up in the moming, Marx
would go lo

A. work in his study

B. do moming exercises

C. drink some tea

Wi sE 9 Bt BB 17—20 /M,

17.

Charlie began to work in the middle school
because .
A. he had been in the school for four

years

w=XiE

18.

19.

20.

B. he couldn’t do anything except teach-
ing

C. he hoped to become a good teacher

Charlie hopes ____ ,so he does his best to

make his classes lively and interesting.

A. his students could do well in chemistry

B. his students wouldn’t be afraid of him

C. his students carefully watched him
making the experiment

That day Charlie wished

A. his students could learn the chemical
reaction

B. his students could find the atom of car-
bon

C. his students could count ( # ) the
atoms of carbon{# B F)

The students couldn’ t answer Charlie’ s

questions because ___ .

A. none of them had seen the atoms

B. they didn’t understand their teacher

C. the chemical reaction was too compli-

cated
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1. What is the probable relationship between
the two speakers?
A. Boss and secretary.
B. Doctor and patient.
C. Teacher and student.
2. What’s the population of Hawaii?
A. About 1,000,000.
B. About 100,000.
C. About 10,000,000.
3. What time is it now ?
A. Eight o’ clock.
B. Eight thirty.
C. Nine o’ clock.

L

4. What are they talking about ?
A. The city of Washington.
B. The people in Washington.
C. The name of Washington.
5. Where’s the tree?
A. By the river.
B. By the lake.
C. Behind the house.

=\ kE , REBRXTR TR &M,
WrsE o R, B 6—8 /N,
6. What is this talk about?
A. Cats.
B. Dogs.
C. Pets.
7. Which kind of animal can lead the blind?
A. Cats.
B. Dogs.
C. Monkeys.
8. Which kind of animal are trained to help
disabled persons?
A. Cats.
B. Dogs.
C. Monkeys.
WHEc RHNBR—I8, AELHPRATA
9—12 B4RFo
9. Most Americans like a member of
the family.
10. The most common pets in the U. 5. are

11. For example, dogs guard the house,

126. Scientists are do simple tasks,

such as. ..

WS 7 R, B 13—15 /M
13. Which of the following decides the price of

ZBHh



a house, according to the text?
A. The size of the house.
B. The location of the house.
C. Both A and B.
14. How many years can a family take to pay
off the money they borrow from the bank?
A. 20 years. '
B. 30 years.
C. 35vyears.
15. In what condition can not a family afford a
house?
A. If they don’t have enough money.
B. If there is no bank lending.
C. If they can’t borrow money from their
friends.
HE7TRMRBE—i8, HRBERAWTHHEE
16—19 /i,
16. What do you have to do if you want to buy

a house in the U.S.7

17, How much does an American family usually

pay for a house of their own?

18. What do you know about the houses in the
suburbs 7

19. How do most Americans buy their houses?

w8 B A, S AR 20—
UEANTFTEABAL FALERE
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20.
21.
2.
23.
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25. What can you infer from the dialogue?
A. The two speakers failed the exam more
than once.
B. The two speakers only failed the exam
this time.
C. The two speakers are good students.
26. What’s the result of their failing the ex-
am?
A. They have to have an exam next term.
B. They have to ask their parents for
help.
C. They have to leave the school.
27. What’s the probable result of the dialogue
?
A. The two speakers will stay at home to
prepare for the exam.
B. The two speakers will stay at school to
prepare for the exam.
C. The two speakers will not do some
preparations and have a nice vacation.
Wr 8 10 B4, B 28—30 /ML,
28. Where are they now?
A. In a bus.
B. In a train.
C. In a plane.

ZEWH




29.

30.

e

A

What’s the man doing?

A. He’ s traveling on business.

B. He’s going on holiday.

C. He’s going to a conference.

How long will it take them to get to Paris?
A. Two hours.

B. Two hours and a quarter.

C. Two hours and a half.

TG MR TR REEER,

WréE 11 B HPe, BE 3135 Ml

31.

32.

33.

35.

We can conclude that Jim .

A. is a member of the Greens

B. has no idea whether to watch TV
C. was once a guest in the Greens
There are no advertisements on .
A. BBC 1, nor on BBC 2

B. BBC 1 only

C. BBC 2 only

What programme did the children want to
watch?

A. Sports programme .

B. Serious programme.

C. Light programme.

. Why do people have to pay some money

each year? Because

A. some of the TV channels are not free.
B. all of the TV channels are free.

C. none of the TV channels are free.
How many persons are mentioned in the
passage?

A. Three.

B. Four.

C. At least five.

WFEf 12 s, B 36—39 /B,

36.

According to the passage, we know a re-

37.

38.

39.

porter .

A. works very early in the moming and
eats no breakfast

B. usually has fast food for his lunch

C. always eats his dinner very late at night

Which of the following is NOT true accord-

ing to the passage?

A. There are people who take pictures to
go along with the news story in the
news team.

B. Each time any news story happens, the
news team has already been there.

C. The reporters talk to different people
such as movie stars, sportsmen, etc.

We can leamn from the passage that the

news team

A. doesn’t go home until the news goes
on the air

B. will go home because everyone is tired

C. will go home before it is time to go
home

We can infer from the passage that the re-

porter’s job is very .

A. important

B. tiring

C. differem

RTS8 13 B HPEl, B2 40—a2 /MM,

40.

41.

If you want to get pleasure, please buy

yourself

A. a serious newspaper

B. a foreign newspaper

C. a popular newspaper

The Times is an independent paper be-

cause

A. it gives special support to all the polit-
ical parties

=3 o ZBWwh



B. it supports no political parties
C. the editors’ opinions are not examined

by the owners of the paper

42. Which of the following is NOT true?

WERE T

A. The subjects of the letters to the edi-
tors are serious at all times.

B. The amusing paris of the paper are let-
ters to the editors,

C. The manners of the young people thirty
years ago were often polite.

#-F
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1.

Why isn’t the woman moving?

A. She can’t afford a bigger house.

B. She doesn’t want to leave her friends.
C. She doesn’t want to live in the city.

. What’s the weather like in Thailand?

A. Very hot but not humid.
B. Rather hot and humid.
C. Not hot enough but very humid.

. What is the weather like?

A. It's wam.
B. 1t's hot.
C. It’s cold.

. Where’s the tailor’s?

A. It’s between the bank and the hotel.
B. It’s next to the bank.

C. It’s next to the hotel.

. How long hasn’ t the woman heard from

home?

A. A long time.
B. Two months.
C. A week.

f
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6.

Where dees this dialogue most probably take
place?

A. In a supermarket.

B. In a company.

C. In a hospital.

. Why does the man feel fed up?

A. Because he is tired of doing the same
thing day after day.

B. Because he can’t go on a holiday.

C. Because he can’t go hunting with his
father.

. Why did the speaker’s great greatgrandfa-

thers have more fun?

A. Because they hunted for their food.

B. Because they grew their own vegetables
and did things for themselves.

C. Both A and B.

. What’s the most probable result of the dia-

logue?

A. The man will go on a holiday.

B. The man will do all the things by him-
self.

C. The man will be very happy.

WrSE 7 R, @Y 10—12 /hE,
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10.

I1.

12.

When did the man visit the Great Wall?
A. Last week.

B. This summer.

C. Tt isn’t mentioned.

When must the composition be handed in?
A. Today.

B. Tomorrow.

C. Next week.

Who is the girl?

A. A gl from China.

B. The boy’s classmate.

C. An English teacher.

WreE 8 BEbr i, @& 13—16 /W,

13.

15.

16.

From the text we can know about .
A. how to give advice on letter writing
B. how to be a student

C. how to tell a story

. We often write to people whom

A. we often visit

B. we do not often see

C. we often talk with

Reading friendly letters is .

A. a pleasant experience

B. a sad experience

C. a difficult job

The person who hears from you likes to
know

A. you don’t like answering his letters

B. you can’t write the letters yourself
C. you want his advice.

WP s 9 i, @8 17—20 /MK

17.

18.

19.

In the village people

A. only care about their own business

B. are willing to help each other

C. want only to receive others’ help

Which of the following facts is NOT men-

tioned in the passage?

A. In large cities people are sometimes
strangers to their neighbors.

B. Village people are more polite than city
people.

C. People living in London do not feel
happy in the evenings and weekends.

This paragraph is about .

A. the difference between life in one
country and another

B. the difference between London and an
English village

C. the difference between city life and vil-
lage life in the same country

. Why do people feel lonely after work?

A. Because people live around them go to
different places.

B. Because there are no other people liv-
ing there.

C. Because they don’t know each other.

WEiR I ZEWH
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1. Why does the man want to take a bus?
A. There’s no hurry to attend the meeting.
B. It is cheaper than taxi.
C. It is difficult to find a taxi.
2. How does the man go to work?
A. By bike and on foot.
B. By bike and by bus.
C. By bus and on foot.
3. Where's the woman’s husband from?
A. China,
B. England.
C. Scotland.
4. What does the woman usually do on Sunday

evening?
A. Go to church.
B. Work in the garden.
C. Read the paper.
. What does the woman want to do?
A. She would like to stop for a break.
B. She wants to go home.
C. She wants to continue with the work.

Z\T G, BERXTAT I M,

VT % 6 B atEt, 1% 6—8 /MM

6. What sport isn’t talked about in the mono-
logue?
A. Baseball.
B. Basketball.
C. Table tennis.

7. What can we learn about the very best play-
ers?
A. They will become sports stars.
B. They will become rich.
C. They will become film stars.

8. What does “professional players” mean?
A. They eam their living by playing sports.
B. They are good at sports.
C. They are the best players.

WS o M BN — R, R THEAF,

9. American high school students like to

10. Some schools might also have

11. The most outstanding will

12. That means they will
when they play.
13. And many of them can take part in and

win
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14. What do you know about Allende?

15. Why do Anita’s parents want to leave at

noon?

16. How many days do they plan to spend for
the trip?

. F 8 BAH, R BMA P 17—
AEA O FEAHMA L FLALERE
B,

17.

18.

19.

20.

21.

B\ FratiE AT HE ABC ZARA TR
BRI,
WrsE o B4, B 22—24 /MR,
22. What happened to the woman?
A. She lost her job.
B. The boss allowed her to go on a holi-
day.
C. She was given a chance to study
abroad.
23. How did the man feel about the woman’s
boss’s decision?

®-XiE

A. He understood it well.
B. It was completely wrong.
C. He didn’t understand it.
24. What should the woman do in the future?
A. She should go to work on time.
B. She should leamn new things and work
hard.
C. Both A and B.
W 10 B8, B 25—27 Mo
25. Whom will Katy have a meal with this
evening?
A. Some classmates.
B. Some American friends.
C. Her cousins,
26. What's Katy ringing Henry for?
A. To ask him to have a meal with them.
B. To tell him something important.
C. To go to the cinema with him.
27. Why does Henry refuse Katy?
A. He’s got a headache.
B. He’ll do some washing.
C. Both A and B.

N\ ARG, AR Pk REEE,
Wr s 11 B AT, B 28—31 M,
28. The writer thinks that many accidents hap-
pen because
A. roads are old and narrow
B. roads go across each other
C. cars can now travel very fast
29. How are the new roads different from old
roads?
A. They have at least two lanes.

B. They cross over one another.
C. They have too fast cars.
30. New roads must be built because .

23 2y



A. cars can now travel faster
B. the old roads are too straight
C. both A and B
31. It is hard to build new roads in towns be-
cause
A. horses and bikes go there
B. there are too many cars
C. many buildings have to be pulled down
WrsE 12 EAPE, S 32—34 /ME,
32. Schubert went to the restaurant to .
A. write a poem for his Berceuse
B. have his dinner together with his friend
C. see if he could find some friends who
could lend him some money for a meal
33. The passage didn’t tell us .
A. how old he was when Schubert died
B. how poor Schubert was
C. why Schubert wrote a piece of music
for the little poem
34. Which of the following sounds more rea-
sonable (%—ﬁfﬁ) ?
A. Musicians are always poor.
B. Great music is always bomn in a poor
musician’s hand.
C. Schubert’ s Berceuse became famous
long after his death.
WTEE 13 e, @& 35—38 VB,
35. All of the following forms belong to pop
music except .
A. blues
B. rock and roll
C. jazz
36. According to the article, the number of
people for jazz in the 1950s was it is
today.
A. much greater than

& 3R

B. much smaller than
C. as great as
37. Which of the following is TRUE?
A. No pop music is on a high musical lev-
el.
B. Much pop music is very artistic.
C. Not all pop music is without artistic
value.
38. The passage says that _ has now begun
to rule musical stage productions.
A. native music

B. jazz

C. pop music

T RE A E AT AR T iR R
HEA(kS DM, HDH15 5,475
o
1. Where were the speakers before this conver-
sation?
A. In the theatre.
R. In the concert.
C. In the cinema.
2. What’s the result of the dialogue?
A. The two speaker will go to watch the
match together.
B. The woman will not go to watch the
match.
C. Both the two speakers won’t watch the
match.
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3. Why does the man tell his daughter to be
careful?
A. Because she’s a little girl.
B. Because she's on duty.
C. Because the little girl is at home alone.
4. Where are the speakers most probably?
A. In a bank.
B. In the street.
C. In a middle school.
5. What is the usual weather like here in May?
A. Cooler and drier.
B. Warmer and drier.
C. Warmer and wetter.
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6. Where is the woman going?
A. To her friend’s home.
B. To Allen Company.
C. To go back home.
7. What do you think of the address of the
company given by the woman’s friend?
A. It is not right.
B. It is lost.
C. The woman has forgotten.
8. What kind of help did the man offer?
A. He showed the woman where to go.
B. He offered the woman to use his tele-
phone.
C. He did nothing at all to help.
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9. When did the two people last see each oth-
er?

A. More than a year ago.

B. Last Christmas.
C. Since last Christmas.
10. Which statement is true of the conversa-
tion?
A. One child injured an arm.
B. One child hurt a knee.
C. One child broke a leg.
11. What did you leam about Joe?
A. He is still playing the violin.
B. He no longer plays the violin.
C. He enjoys both the violin and sports.
12. What is Mrs. White doing now?
A . She is studying French.
B. She is studying typing.
C. She is studying cooking.
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13. Which of the following is TRUE according
to the passage?
A. Americans hated jazz.
B. Black Americans created jazz.
C. Jazz was first played in the USA.
14. A jazz song might sound a little different
each time it is played because .
A. different people show different styles
B. jazz songs are different from one anoth-
er
C. the music is made up on the spot(ZL
%)
15. From the passage it can be seen that
A. people all over the world have more
and more come to like jazz
B. people don’ t like jazz because it is a
kind of music played by slaves
C. jazz music is always of the same style
16. The passage suggests that .
A. jazz is sung only by slaves
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